SERVICE BULLETIN [E

M-939

[FY-DAVIDS!

IMPANY.ZE

-

December 5, 1986

HERITAGE SOFTAIL SPECIAL, PRE-DELIVERY AND SET-UP

This Service Bulletin describes Pre-delivery and Set-up
instructions unique to the FLST Special; a mid-year
model introduction.

BATTERY SERVICE

1. Remove the seat.
2. Remove one of the bolts securing the seat strap.

3. Service the battery as outlined in the Pre-delivery
and Set-Up Manual, Part Number 99947-87.

4. Install the seat with the strap over the seat. Install

the bolt that secures the strap.

WINDSHIELD INSTALLATION

The windshield and mounting hardware come with the

motorcycle as a kit and must be installed. The windshield

is available as a kit, part no. 58450-87. The mounting

hardware can also be ordered as a kit, part no. 58060-87.
NOTE

Windshield kit and Hardware kit are purchased
separately.

Windshield kit is fully assembied.

Hardware kit consists of:

PART NO. NAME
4036 BOLT, 5/16-24x1 hex. hd. (Grade 5
Steel)
3960W BOLT, 5/16-24x1-1/2 hex. hd. (Grade
5 Steel)
7041 WASHER, 11/32x1-1/32x1/8
6645 LOCKWASHER, 5/16

1. Remove the two top bolts on the fork cover and
discard.

2. See Figure 1. Slide the windshield brackets over the
outside of the passing lamp brackets..

a _

N\ w3t
Passing lamp &
Bracket

N{ e

Figure 1. Windshield Mounting
NOTE

The bottom bolts do not have to be removed or
loosened.

3. Install the 5/16x1-1/2 in. bolts, with lockwashers
and washers in the top holes.

4. Install the 5/16x%1 in. bolts, with lockwashers and
washers in the middle holes.

5. Adjust the windshield height to suit the customer and
tighten the bolts to 19 ft-ibs torque.

ROUTING: | SERVICE SALES PARTS CHIEF MECHANIC | MECHANIC | MECHANIC | MECHANIC| RETURN
MANAGER | MANAGER | MANAGER | MECHANIC NO. 1 NO. 2 NO.3 NO. 4 THIS TO:

INITIAL

HERE

© 1986 Harley-Davidson Motor Co., Inc.





